

Question 1. (3 marks each) Determine whether the following statements are true or false. If a statement is false provide a counterexample. If it is true provide a proof.

a. If $A^4 = 2I$, then the matrix A is invertible.

True, from the premise $\frac{1}{2}A^4 = I$

$$\frac{1}{2}A^3 A = I \quad \text{and} \quad A\left(\frac{1}{2}A^3\right) = I$$

$$\therefore A \text{ is invertible and } A^{-1} = \frac{1}{2}A^3$$

b. If $AB = B$ and B is a nonzero matrix, then the matrix A is invertible.

False, let $A = \begin{bmatrix} 1 & 0 \\ 0 & 0 \end{bmatrix}$, $B = \begin{bmatrix} 1 & 0 \\ 0 & 0 \end{bmatrix} \neq 0$

$$AB = \begin{bmatrix} 1 & 0 \\ 0 & 0 \end{bmatrix} \begin{bmatrix} 1 & 0 \\ 0 & 0 \end{bmatrix} = \begin{bmatrix} 1 & 0 \\ 0 & 0 \end{bmatrix} = B \quad \text{but } A \text{ is singular since } ad-bc \\ = (1)(0) - (0)(0) \\ = 0$$

Question 2. (4 marks) Solve for the matrix X if $AX(D+BX)^{-1} = C$. Assume that all matrices are $n \times n$ and invertible as needed.

$$\begin{aligned} AX(D+BX)^{-1}(D+BX) &= C(D+BX) \\ AX I &= CD+CBX \\ AX - CBX &= CD \\ (A-CB)X &= CD \\ (A-CB)^{-1}(A-CB)X &= (A-CB)^{-1}CD \\ I X &= (A-CB)^{-1}CD \\ X &= (A-CB)^{-1}CD \end{aligned}$$

Question 3. (5 marks) Let $B^{-1}A = \begin{bmatrix} 1 & 2 & 1 \\ 1 & 1 & 1 \\ 2 & 1 & 1 \end{bmatrix}$ and $BX^{-1}A^{-1} = I_3$. Find the matrix X .

$$B^{-1}BX^{-1}A^{-1}A = B^{-1}IA$$

$$IX^{-1}I = B^{-1}A$$

$$X^{-1} = B^{-1}A$$

$$(X^{-1})^{-1} = (B^{-1}A)^{-1}$$

$$X = (B^{-1}A)^{-1}$$

so let's find the inverse of the given matrix.

$$\left[\begin{array}{ccc|ccc} 1 & 2 & 1 & 1 & 0 & 0 \\ 1 & 1 & 1 & 0 & 1 & 0 \\ 2 & 1 & 1 & 0 & 0 & 1 \end{array} \right] \sim \begin{array}{l} -R_1 + R_2 \rightarrow R_2 \\ -2R_1 + R_3 \rightarrow R_3 \end{array} \left[\begin{array}{ccc|ccc} 1 & 2 & 1 & 1 & 0 & 0 \\ 0 & -1 & 0 & -1 & 1 & 0 \\ 0 & -3 & -1 & -2 & 0 & 1 \end{array} \right]$$

$$\sim \begin{array}{l} -3R_2 + R_3 \rightarrow R_3 \end{array} \left[\begin{array}{ccc|ccc} 1 & 2 & 1 & 1 & 0 & 0 \\ 0 & -1 & 0 & -1 & 1 & 0 \\ 0 & 0 & -1 & 1 & -3 & 1 \end{array} \right]$$

$$\sim \begin{array}{l} R_3 + R_1 \rightarrow R_1 \\ -R_2 \rightarrow R_2 \\ -R_3 \rightarrow R_3 \end{array} \left[\begin{array}{ccc|ccc} 1 & 2 & 0 & 2 & -3 & 1 \\ 0 & 1 & 0 & 1 & -1 & 0 \\ 0 & 0 & 1 & -1 & 3 & -1 \end{array} \right] \sim \begin{array}{l} -2R_2 + R_1 \rightarrow R_1 \end{array} \left[\begin{array}{ccc|ccc} 1 & 0 & 0 & 0 & -1 & 1 \\ 0 & 1 & 0 & 1 & -1 & 0 \\ 0 & 0 & 1 & -1 & 3 & -1 \end{array} \right]$$

$$\therefore X = (B^{-1}A)^{-1} = \begin{bmatrix} 0 & -1 & 1 \\ 1 & -1 & 0 \\ -1 & 3 & -1 \end{bmatrix}$$

Question 4. (5 marks) Express the above $B^{-1}A$ as a product of elementary matrices, if possible.

Since the reduced row echelon form is I , it is possible

$$E_7 \cdots E_2 E_1 B^{-1}A = I$$

$$(E_7 \cdots E_2 E_1)^{-1} E_7 \cdots E_2 E_1 B^{-1}A = (E_7 \cdots E_2 E_1)^{-1} I$$

$$B^{-1}A = E_1^{-1} E_2^{-1} \cdots E_7^{-1}$$

$$= \begin{bmatrix} 1 & 0 & 0 \\ 1 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 2 & 0 & 1 \end{bmatrix} \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 3 & 1 \end{bmatrix} \begin{bmatrix} 1 & 0 & -1 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} \begin{bmatrix} 1 & 0 & 0 \\ 0 & -1 & 0 \\ 0 & 0 & 1 \end{bmatrix} \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & -1 \end{bmatrix}$$

$$\begin{bmatrix} 1 & 1 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix}$$